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: THSEG: or all govt. exz BY ADITYA RANJAN SIR

3§ 2 G| O1. Pipe P can fill a tank alone in 7 hours. Pipe
%3 — Q can fill the same tank alone in 13 hours.
~ In how much time can they together fill
Hime = _‘;_l = ‘—2%1‘60 the tank?

0_4‘“%. UET P, 7 U W 3Tl Uk 2o ol 9T Hehel F
} "N gy Q I ¥ W 13 W2 H WY WEAT 81 A UH

t= Oyh - I3x7 ~ wy fHE wug § ¥ @ 9T uehd 27
Qb 134y SSC MTS 2 August 2019 (Evening)

(a) 3 hours 18 minutes
(b) 3 hours 45 minutes
(c) 4 hours 12 minutes

4 hours 33 minutes
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goVt. ex: BY ADITYA RANJAN SIR

Pipe A can fill an empty tank completely
in 11 hours. Pipe B can empty this fully

filled tank in 15 hours. If both the pipes
are opened simultaneously, in what time
will the empty tank be filled?

uzy A TodT @t 2@ @ 11 9¢ ° qul ®u |
YT WAl £l UTEY B IH UYUT ®Y ¥ WY MU I
& 15 U W Wrell T Thar g1 Ffe IET Ul
g § W

SSC MTS 5 August 2019 (Afternoon)
\!9)/41 hours 15 minutes
(b) 49 hours 45 minutes

(c) 47 hours 30 minutes
(d) 39 hours 15 minutes



BY ADITYA RANJAN SIR

Pipe V can fill an empty tank in 8 hours.
Pipe V, can fill the same tank in 16 hours.
Pipe V, can empty the same, completely

filled, tank in 12 hours. If three pipes are
opened simultaneously, then in how much

time will the tank get completely?
URRY V, UF Wel 29 H 8 U U 9T Hehdl
URY V, 39 & & 16 42 H W Hahal §1 UEy
V, 3H 97 gU 2% o 12 "2 § Wiell ST Hehal
1 afs 99 uRu s W9 W 99 £, 91 2%
fae wog o 9 T0E 9T Ao

SSC MTS 8 August 2019 (Afternoon)

— hour ‘b —
a urs ours

(c) — hours dY — hours
S S



: THSEG: or all govt. ex: BY ADITYA RANJAN SIR

+10 2 9% 04. An inlet pipe can fill a tank in 10 hours
and an other pipe can empty the
completely filled tank in 20 hours. Both

the pipes are opened at 6.30 . When
t= & : will the tank got filled? =

Ush 3iaTa ursg TRt Zat &Rt 10 92 W 97 Hehal
& Wafe U AW Uzy gi @ W 9 gE T
@1 20 "l U Wil &7 Wahdl &1 S0 UISUT =Rl
gaeE 6:30 a9 o] feRar wmar §1 T &a WY
HATAT?

SSC CHSL 3 July 2019 (Afternoon)

w 30 a.m. next day

(b) 2 a.m. next day
(c) 1 a.m. next day
(d) 12:00 midnight




gOVL. ex: BY ADITYA RANJAN SIR

05. Pipe A can fill a cistern in 4 hours and
another pipe B is installed both the pipes

1
together fill the cistern in 2 = hours. How

long will it take for B alone to fill the
cistern?

Uy A fadt 2 &1 4 92 0 9 Gehdl £ UH
I UIEd B #0NE TE| A0 UIZY U Wi Zh @i
25 U2 O 97 Hehdl 21 B &l 37chet 30 Zah! ohi
o+ o fepar qua Fm?

SSC CPO 16 March 2019 (Morning)

3
(a) 5 hours (b) 6 s hours

2 1
M; hours (d) S = hours



goVt. ex: BY ADITYA RANJAN SIR

06. One-fourth of a tank can be filled in 3

hours by pipe A and_one-third of the same
tank can be filled in 2 hours by pipe B. How
long will it take for the tank to be filled if

both pipes are kept open?

fordt ==t &1 UsH-=9TE 97T UEY A & BT 3
e W AYUT THET Rl T UH-fag® «mr uzw B
GUT 2 92 W ST W7 Wehal £ AfE A0 UBT =
&7 fau w9 & 91 39 e & 9 o e wwg

?
SSC CPO 14 March 2019 (Morning)
(a) S hrs (b) 2 hrs
1
() 4 hrs (d) 2 —hrs



OMF THSE]I: or all govt. exa BY ADITYA RANJAN SIR
ﬂ * +5 > Yo 07. A tank be filled by pipe A in S hours and
emptied by pipe B in 8 hours respectively.
20 How much time will it take for the tank

b=w = R _ in the half full?

20 N iR :
€ 5 3 U S @ UIZU A ENT 5 HE W W ST HehdT §

3fIT U120 B EWT HOYT: 8 ¢ H @rel femar =
Thdl &1 2 T 3T ST 21 o fehemT 90a onm?
SSC CPO 14 March 2019 (Morning)

1 2
(a) 5 hrs (b) 8—hl’s

1
(c) 125 hrs \/)/6—hrs



goVt. ex: BY ADITYA RANJAN SIR

Two pipes A and B can fill a tank in 45
minutes. 9f pipe A can fill an empty tank
in 1 hour, how long will it take pipe B to
fill the empty tank?

T UTsT A dur B TRt 2@t & 45 fume ° @
Hahd 2| afg UI3T A @Telt SRt @i 1 U2 H WY
Hehal &, @7 30 @eil i &l 94 | U7 B &l
faremT Tua omm?

SSC CPO 15\17;?1‘! 2019 (Morning)

(a) 2 hours 3 hours
(c) 1 hour (d) 4 hours



OMF MATHSEI: or all govt. ex: By ADITYA RANJAN SIR

+3
R~ 32 % 96 09. A pipe can fill a tank in 32 minutes. Due
to a leak the tank is filled in 48 minutes.

A+ ggue
How long will it take to empty the tank due
to leakage?

t= 96 - Qem @ms‘zﬁ%ﬁ@éﬁammﬁum
o ke b & ®NUT &F 48 Towe ¥ W umr B e &
= Lhy 36mn FHIUT 9T F3T 2 @it g4 U fora=m wua &mm?
SSC CPO 14 March 2019 (Evening)
\(,ar%l hour 36 minutes
(b) 1 hour 42 minutes

(¢) 1 hour 20 minutes
(d) 1 hour 56 minutes




KO GANEAMAT HSEG LS AT s it Y ADITYA RANJAN SIR .

Ay 15 QY 10. Three pipes A, B and C can fill a cistern in
B> 24 IS 15, 24 and 36 minutes respectively. if pipe
C> 36 10 260 D can drain a full tank in 1 hour, how long

will it take for the tank to be filled it all
the four pipes are kept open together?

1 - A9 urEy A, B 3T C THOI: 15, 24 31T 36 fued
U TH! I OT Wehd B FEl Uy D YT WY I

W 1 W U Wil T Whar g1 Gfe |t =
UTSUT W Usk W el T@T WA § oar 39 ¥
9 o feRar qua w?
SSC CPO 15 March 2019 (Evening)
1 12
S

9 i)
@) 9 ) 5

16 2
of 85 @ 73
43 3
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goVt. ex: BY ADITYA RANJAN SIR

Pipe A and B can fill a tank in 12 minutes
and 15 minutes, respectively. The tank
when full can be emptied by pipe C in x
minutes. When all the three pipes are
opened simultaneously, the tank is full in
10 minutes. The value of x is :

UET A 31T B %ayn: 12 foae 31w 15 foqe o
U 2 W Hehd 2| 9& 2 Wi Bl a1 UIRU C
T x Tz o @t femar st 9@ar 810 5| JE
UTEY Uk WY Wit A &, a9 2 10 fie ° ww
m%lxaﬁfﬂﬁ%-

CGL TIER II 2019 (16/10/2020)
(a) 18 (b) 15

\(cy'20 (d) 24



: THSEG: or all govt. exa BY ADITYA RANJAN SIR

A 8 . 12. Pipes A and B can fill a tank in 8 hours and
R 12 2 2y 12 hours, respectively whereas pipe C can

4 empty the full tank in 6 hours. A and B are
opened for 3 hours and then closed and C

is opened instantly. C will empty the tank

Ale  (A4B)x3 = CXX in :
3 _ age A sit B faedt 2@ @ ww 8 w2 s
2 1S = X 12 92 H 97 H&d § ofwd argg C wdf gF =@
331:\5:"33_}1\( ﬁb\ﬁﬁﬁﬁW%IAﬁBﬁ3
a 92 & o wren srar € aan fer @2 &  faan

it %1 C Za &t feem woa o wrel &7 am?

SSC CHSL 3 July 2019 (Morning)

1 1
5 —N 4— h
(a) ours (b) ours

31h \/3311
(c) 2 ours ( Z ours
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BY ADITYA RANJAN SIR

Pipes A and B can fill a tank in 8 hours and
12 hours, respectively whereas pipe C can
empty the full tank in 6 hours. A and B are
opened for 3 hours and then closed and C
is opened instantly. C will empty the tank

in :

urzg A 3t B ot @t &t a8 92 3T

12 92 H 9T Ha&d § ated urzg C wit gF za&

w6 92T U WIEl #T "har g1 A 3T B & 3

e & forg wmren @rar € aan fer @m & faan

wrar €1 C Z&t & e 9wa o wret &7 am?
SSC CHSL 3 July 2019 (Morning)

1 1
5 —N 4— h
(a) ours (b) ours

31h \/3311
(c) 2 ours ( Z ours



A 16 15 13.
B 2 > 840
C>-40 —= 6

=)

THS JUK )

(A+RA+C) X8 +(B+t = QUO
AX8 + Ut = 240

:> /4'1': %22

pvt. exa By ADITYA RANJAN SIR

Pipes A and B can fill a tank in 16 hours
and 24 hours respectively whereas pipe C
can empty the full tank in 40 hours. All
three pipes are opened together, but J:pe
A is closed after 8 hours After how many

‘hours, the remaining part of the tank will
be filled?

ursq A @9r ursy B faedr 2@t @ wEen: 16 3T
24 U2 U WY Weha § TEfeh Uzy C Wi 7 Il
@ 40 U2 W Wrell @hT Hehel 1 9 o1 Q1S9 ahi
Ush W9 @re faar wer § @feR 8 °e @re uigy
A @7 &t faar mam Z@ @ 9w 9 femaw wel
¥ WII?

SSC CPO 13 March 2019 (Evening)

(a) 28 \m/zz

(c) 26 (d) 30



: THSEI):
A>6 4
B> 8 }'w
Cy-12 — %

F(A+B8+¢)+ X (B+¢) = 2
9 35 T Axi=2y

’

14.

goVt. ex: BY ADITYA RANJAN SIR

Pipes A and B can fill a tank in 6 hours and

8 hours respectively and pipe C can empty
the full tank in 12 hours. All three pipes
are opened together, but pipe A is closed

after 3 hours. In how many hours will the
remaining part of the tank be filled?

sy A 30T ursy B feRwdt 2Rt @6 whO9T: 6 31T 8
e U 9T Wehd § A9T Urgd C 9 ETF T bl 12
¢ W @rell T Hahal &1 37 A1 UBY H TH
oty @i faar @ § @feRw 3 92 &g uEw A
ag & faar mam e @ vw femn foeaw we ©
TII?

SSC CPO 12 March 2019 (Evening)

\4af 0 (b) 12

(c) 11 (d) 10



THSEG: or all govt. exz By ADITYA RANJAN SIR

@ Pipes A and B can fill a tank in 12 hours
HWw and 16 hours respectively and pipe C can
empty the full tank in 24 hours. All three
pipes are opened together, but after 4
hours pipe A is closed. After how many

hours, beginning will the tank be filled?

sy A 9971 Uig9 B TeRdET ZERT ahT @men: 12 301
16 W2l W 9T Wehd § Wafeh UZY C 9 &3 2
1 24 9T U Wreil T Gahal &1 29 A4 UBY i
UF WF A T fgar @ § agr 4 9 ane
urzu A dg & famr wmar §) I | 9w o e

SSC CPO 13 March 2019 (Morning)

(a) 24 hours (b) 28 hours
(c) 30 hours (d) 32 hours



OMPF THSEIL: or all govt. ex: BY ADITYA RANJAN SIR

Top > 3 < IS 16. Omne tap can fill a tank in 3 hours and a
leag 9 ~5 =3 leak can empty it in 5 hours. If the tap and
the leak (which was half closed) were left
open, how long will it take for the tank to

U3 TS TR aw
2 L UF A TR ZHT H 3 92 W 9T WEHAT § AT

=
Y2  uw B2 W 5 92 W WEN & GHa g1 T2 T
L Ud B (S T W@E A7) & gen vrg faar @

ar Z@ &t 9= o fmaw wug sm?
SSC CPO 16 March 2019 (Morning)

2 1
4= 5
\(/ = hours (b) - hours

2 1
(c) 5; hours (d) 75 hours



ATHS DURSE (For all govt. ex: | sv ADITYA RANJAN SIR

A6 4 17. Pipes A and B can fill a tank in 6 hours and
B> 9 36 9 hours respectively and pipe C can empty
=3

Co-12 the full tank in 12 hours. If all three pipes

S are opened together when a tank is empty.

= 1) 6 X3S In how many hours will 35% of the tank
—E" - ‘OD‘ — \8¢ - | be filled?

A 0gF —= @ ugu A 3w B et w@relt Za @ wmn 6

AT 9 92 ° W Wahd ¢ W Uz ¢ wi gE I
@ 12 92 W Wen @ Hahal g1 afq @ @rel
1 O A0 UIgY Us W19 e o fau a| ¥ A
et o 35% T TR 92 o wv |rom?

SSC CPO 12 March 2019 (Morning)
(a) 1.9 hours

(b) 1.5 hours

(c) 1.6 hours
1.8 hours




OMPF THSEIL: or all govt. exz BY ADITYA RANJAN SIR

5 16 3

2:’ 9y ysg 18. Pipe A can fill a tank in 16 minutes and
-2 pipe B empties it in 24 minutes. If both the
- pipes are opened together after how many
1 opd minutes should B be closed, so that the

3oxA+AB=T-w A(A+B)+Bow)a tank is filled in 30 minutes?
2 90-2x =Yg :)’H(Bou);Tw urzy A fadt 2%t &1 16 fume W W weRar ¥ Ao
) U2z *8 urzu B 3@ 24 fie # @l w wwar §1 afz =

%+ q
:) 3 qzi’;“:% Il WY H UH WG @re] fmar wan €, at B @
\5* fray fose @re a2 @71 BN ATt 2@ 30 fie

o 9T H?
SSC CPO 16 March 2019 (Evening)
(a)721 min (b) 20 min

(c) 18 min (d) 15 min




goVL. exz BY ADITYA RANJAN SIR

A pipe can fill a tank in 18 hours. In how
much time (in hours) will another pipe
operating at one-third the efficiency of the
first pipe fill a tank whose capacity is 50%
of that of the first tank?

Ush UIEY 18 He W Ueh 2ah WY Wehal gl Tamed
aug o ("2l W) UEel UigU i Usk-fags
YT UT T AT gEI U39 39 ek ahl WY
a Tament arfiar ugel 2a& @t do 1 o 50% &7
SSC MTS 19 August 2019 (Morning)

(a) 36 (b) 21

(c) 45 \ (427



or all govt. exz BY ADITYA RANJAN SIR

20. Pipe A and B can empty a filled tank in 20
hours and 15 hours respectively, while pipe
C alone can fill the same tank in x hours.
The three pipes have been opened

simultaneously and they took 40 minutes

1
to finish the __ (one-eighteenth) part of
= &5 =30k it
€= = 90hY the tank. The value of x is :
UEY A 3T B U 9T T I HEYL: 20 " W
15 ©2 U Wl & Hehd §, WAt IHT T H
UEY C J&em x W2l ¥ 97 Wahal § A Ry

mmamﬁr{mawmmml—s

O ST W A ° 40 o @ wwm e x
& OUEH -
SSC MTS 21 August 2019 (Evening)
(a) 21 by’ 30
(c) 26 (d) 24



: THSE
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BY ADITYA RANJAN SIR

Two pipes A and B can fill an empty tank
in 8 hours and 12 hours respectively. They
are opened alternately for 1 hour each
starting with pipe A first. In how many
hours will the empty tank be filled?

ar urzg A 3t B farddr @rel 2@ @t wuen: 8
AT 12 92 U WY 9 ¥ U9 A | yEIa &d
ZU 3% US-Ush Fteh 1 92 & fou @rem wen 7
feres w2t o a7 @relt @t WY S ?

SSC CPO 12 March 2019 (Evening)

1
(a) 2 = hours (b) 9 hours

1 1
\19/ 2 a hours (d) 92 hours



goVt. ex: BY ADITYA RANJAN SIR

@ Two pipes A and B can fill a tank in 16

H-w

hours and 20 hours respectively. They are
opened alternatively for 1 hour each,
starting with pipe A first. In how many
hours with the empty tank be filled?

T Uley A 3T urzy B fodr 2t ot U9 16
T 20 U2 W 9T Wehd £ UISY A ¥ IEmAE HIA
ATET &1 @reit Zah feRaa wE ° 9v wroi?

SSC CPO 13 March 2019 (Evening)

3 1
(a) 17; hours (b) 17g hours

1 3
() 17 r hours (d) 17 ry hours



THSEG: or all govt. exz BY ADITYA RANJAN SIR

@ Two pipes A and B can fill a tank in 6 hours
and 9 hours respectively. They are opened
altenately for one hour each, starting with
pipe A first. In how many hours will the
tank be filled?

a1 UrEY A R B fRdt 2t & wmEun: 6 3T 9
g2 U WT Wahd Bl UISU A H IEATE Hd gU
34 ¥ U Rl Ush-Udh olah 1 92 & fau @ren
AT &1 Zhl Bl WA ° farad 92 @?

SSC CPO 12 March 2019 (Morning)
(a) S (b) 4
(c) 6 (d) 7



goVt. ex: BY ADITYA RANJAN SIR

Two pipes A and B can fill an empty tank
in 10 hours and 16 hours respectively.

They are opened alternately for 1 hour
each starting with pipe A first. In how
many hours, the empty tank will be filled?

a1 urzg A 3T B fawei @ret 2@t &t o 10
AT 16 92 W 97 29 ¥ UST A ¥ IEWATE HId
T0 3¢ UHh-UF &ieh 1 92 & folu @ren A g
foras 921 o @relt 2@ 97 AT0I?

SSC CGL 6 June 2019 (Morning)

1 1
(a) 125 hours (b) 12ghoum

1 1
(c) 12 2 hours (d) 12 ~ hours
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OMF THSE1): or all govt. exa By ADITYA RANJAN SIR

Ay 60 5'0 25. Pipes A and B can fill a tank in one hour
B 120 600 and two hours respectively while pipe C
Cy-15 Q can empty the filled up tank in one hour

and fifteen minutes. A and C are turned on

Alo together at 9 a.m. After 2 hours, only A is
2(A +C) + 7 (B4 C) = W closed and B is turned on. When will the

D 4 -3y-= O o (T =T i i _p—

) G=3y §3 &, UFH\A\WB@WWW:@WW

3 a1 92 W WY HHd § oifhd ugd C Wi gF T

Lo L{ J'S '“\?.Omm & UH 92 15 oz o @ret &7 9@ 1) A 3

C & U& W T 9 =« =] faan wrar &1 2
U2 WE wael A W ug fear S € 3T B @
e Tamam arar #1 Z@ @ w@Te g1 A
SSC CGL 6 June 2019 (Morning)
(a) 12:10 p.m. (b) ,/11:30 a.m.
(c) 10:30 a.m. (df 12:20 p.m.



ATHS DURSE (For all govt. ex: sy ADITYA RANJAN SIR

A> 15 4 26. Pipe A, B and C can fill a tank in 15, 30
g-> 30 120 and 40 hours respectively. Pipe A, B and
C> 40 C are opened at 6 a.m., 8 a.m. and 10 a.m.
G hr respectively on the same day, when will be
(PN s 20w tankbe full
6:00 800 10:00 3720 sy A, B 3T C chd2l: 15, 30 3T 40 °2 o
i 8 C — U & W Wehd #1 USY A, B 3T C @ 3H
At 10:00 am fa gaw 6 a9, gag 8 aw I Wag 10 =N
) . ,
4"\1+%+’X(ﬂ+9+( = QAT Sl &, 99 2eh hd 97 WU
32 F 8 _} =120 [qv CPO 2019 24/11/2020 (Evening)
3 3 20 p.m.
(c) 7: 20 p.m.

(d) 11:20 p.m.



ATHS OURSE (Fc

g Yo —= 120
c 60 2

27.

3A +28+2%(A+B+()= |20

D) 12+64+ Q=120

Vt. ex: | v ADITYA RANJAN SIR

Pipes A, B and C can f{ill a tank in 30 h,
40 h and 60 h respectively. Pipes A, B and
C are opened at 7 a.m., 8 a.m. and (10 a.m
respectively on the same day. When will

the tank be full?
uey A, B 3T C fardr @&t =t oo 30, 40
AT 60 U2l § 9T TWehd &1 UEY A, B 37 C &l
us # g9 wuer: wEw 7, 8 T 10 @9 wue
ferar wrer 1 2@t foem wom W wmoEi?
SSCCGL TIERII 11 Sept. 2019
(a) 10.00 p.m.
(b) 10.20 p.m.

\(91/9.20 p.m.
(d) 9.40 p.m.




L1 FAMI I I TWVNINV AN Vil s

28. Pipe A and B can fill a tank in 16 hours
ﬂ% 16 3 yg and 24 hours respectively, and pipe C
Y 2y ) alone can empty the full tank in x hours.
All the pipes were opened together at 10.30
a.m., but C was closed at 2.30 p.m. If the
tank was full at 8.30 p.m. on the same day,
then what is the value of x?

+B84C)+ 6(A+A)=UB : . :
4(96"')+ A ) qEg A 31T B T&dET Z=RT =FT HEIT: 16 3T 24
3 4(S+c)+ 6xs=ysg T2 H 97 Tehd § 94T UIS9 C 3T 99T 52 Tehl

®)  0+yc = |8

-

T x W2 H TN R TERAT &1 JET uTEur =RT
AT 10:30 =H U= T = At e @ fEEs
2:30 p.m. ¥ C =T == =H7¥ T==r w=m == ==%1
3HT 29 8:30 p.m. W €T TS, AT x T O AW

-~

— T A6, "
L SSC CGL TIER IT 12 Sept. 2019
2 (a) 64
(b) 48
(c) 45
296



compLETE W B IR cous

A2
6> 90 >360
A+8+¢> 120 3

L
-6

12(A+8) = AX C
> 17{27((1: KX &

=]

BY ADITYA RANJAN SIR

Pipe A and B are filling pipes while C is an
emptying pipe. A and B can fill a tank in
72 and 90 minutes respectively. When all
the three pipes are opened together, the

tank gets filled in 2 hours. A and B are
opened together for 12 minutes, then
closed and C is opened. The tank will be

empty after
UTET A 3T B WPH ATA WY § WEfeh UBY C
TTEAT THTH ATAT TS 7 A 3T B TRET =T T
wHIT: 72 3T 90 fo== W w7 m=ra ¥ Fafw 39
dFT UTET T U W1 WTe] WY fEar wET 7oA
zﬁzwnmm’uAmBmﬂfﬂv
aF U Ty =e et s 7, R w9 v ©
&1 = T =T £ z= e wua a e aret
=T AT ?

SSCCGL TIER I 13 Sept. 2019

(a) 15 minutes 18 minutes
(c) 12 minutes (d) 16 minutes



30.

BY ADITYA RANJAN SIR

A pipe can fill a tank in 4 hours and a leak
at the bottom can empty that full tank in

6 hours. If after the tank is 1/3 full, the
leak is completely closed, How much time

from beginning will it take for the tank to
get filled completely?

UF UEY fET ZET W 4 92 ° 9T HaAT 7 oAdT
AW T B s A g Za I & 692 |
T T WRAT 51 AfE T ® 13 G 9 JAH
® WE FE T WA A W ouR &y faan
AT Z@ wT YUE: 9§ IE | we A wuy
=Y

SSC CPO 16 March 2019 (Afternoon)

(a) 12 hours

(b) 4 hours
(c) 9 hours

W?O hours



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: | sv ADITYA RANJAN SIR

- 10 > °UD 31. Pipe A can fill a tank in 10 hours. Pipe B
B 12 can fill the same tank in 12 hours. Pipe C
c> -6 ——15 can empty a full tank in 16 hours. All the

pipes are opened at 8:00 a.m. and pipe A

and B are closed at 10:00 a.m. After how
much time from starting will the tank be

2(A4+B8+¢) = X X C
empty?

> 58 = xx1S ST A, 10 T2 H UF Z&F 9T TeRAT 71 UTET B
3 x= S8 " ﬁ‘ﬁﬁnth'mwinmc,w
\SHY ’3_)\{ L UL U S LR T L L

~ 8:00 I WA FIH 7 37 UBT A 3T B, 10:00

3’WSzm‘m am. T A2 TE T WY H fHaT wwm W @

SSC CGL 6 June 2019 (Morning)
() S hours 52 minutes

(b) S hours 24 minutes
(c) 4 hours 30 minutes
(d) 4 hours 8 minutes



; ATHSEi): or all govt. exa By ADITYA RANJAN SIR

A 10 4 7(32) Pipe Aand B can filla tank in 10 hours and 40
hours, respectively. C is an outlet pipe attached

B> 40 i | to the tank. If all the three pipes are opened
simultaneously, it takes 80 minutes more time

A+R4Co 28 than what A and B together take to fill the tank.
3 _A and B are kept open for 7 hours and then closed

and C is opened. C will now empty the tank

in:
n/& utEu A J47 B TadT =T &1 wHuT: 10 9 "dr
(A 48) = UX C 40 W2 H wr wER F1 C wH Frwrw wEw § W
S Ixg- ZHT W | g0 E) Al welr FW oumdr o
—’XX% wry el &7 faar S AT @ @ 9 A i
B & BT U& Wrg faw wu wwm @t qeEr | 80
fumz sifuss &A1 A 30T B &1 7 @21 9@ =9
mm?amfwmmmcmm
farar AT ) C 21 2@t & A Owa o @t

HITT?

SSC CGL 6 June 2019 (Morning)
(a) 45.5 hours (b) 38.5 hours
(c) 42 hours (d)/ 49 hours



ATHS DURSE (For all govt. ex: sy ADITYA RANJAN SIR

A 43.2 33. Pipe A and B fill a tank in 43.2 minutes
9_ ac and 108 minutes respectively, Pipe C can
6> 108 @ = CQP 0&1 empty it at(3 litres/minutes.|When the
G+B+S:7 S5Y < three pipes are opened together, they will
fill the tank in 54 minutes. The capacity

@% 3liht (in litres) of the tank is :
Lunie 2 1 it UTEY A 3T B WHIT: 43.2 fume 3iw 108 foee §
QA" —3 o 1 U& 2o W4 81 UIRY C 3W 3 wier/ e uv wret

A T 54 fuae ° 2% w1 WY M 2 W guar
(eireT ®) ¥ -
CGL TIER II 2019 (15/10/2020)

(a) 160 (b) 180
\(}/216 (d) 200



COMPLETE U Y83 &Y COUR

P %
Ay K-5 Use Option

A+ €

(@ &>9 A5 4

thyg= 2AXM -3¢
A4y |'3x

© B 1o Ao g

(a) 9
(c) 10

BY ADITYA RANJAN SIR

When operated separately, pipe A taks S
hours less than pipe B to fill a cistern and

when both pipe are operated together, the
cistern get filled in 6 hours. In how much
time (in hours) will pipe B fill the cistern,

if oprated?
T A, TE T HuTea feRar wer € A Zent
@&l 9 & faw ursq B | 5 92 &9 oar § AW
Wa I UIEY Uk W Heried g & ar Zah 6
U2 o 9T TraT £ Turteda g4 9T faeas g2 (=2
) Ursqd B Zeh! @Rl 9T FIM?

CPO 2019 23/11/2020 (Evening)

(b) 18
Ms




‘COMPLETE |\ ):¥¥ s & COURSE (For all govt. exz sy ADITYA RANJAN SIR

1
@TwopipeAandBcanfillachtemin 12;

Sami 0 hours and 25 hours respectively. The pipes
Q.no-32 are opened simultaneously and it is found

' — that due to a leakage in the bottom, it took
; 1 hour and 40 minutes more to fill the

cistern. When the cistern is full, in how
much time will the leak empty the cistern?

2T UT3Y A 31T B U 12-;- oe 3T 25 W
o U Z@i 9T Whd &1 93T U [IG Wi A4 8
13%,3&74ofu'=lzaxﬁmmmumt&ﬁm
AT £, A9 2@t W fos feew wuw o wmren w7
am?
CPO 2019 25/11/2020 (Evening)
(a) 42 hours (b) 48 hours
(c) 45 hours (d) SO hours



